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Question 1- (76)%+ (18)2- /5% of 4648 = ?
U 1- (76)% + (18)%2 - 4648 P 75% =2

a)3314
0)2314
C)2614
d)4414
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Question 2- The sum of 1-1+1-1+1.......... to even

number of term I1S?

Uy 2- 1-1+1-1+1.9

{_

7Y

T dh Bl TN HT &2

(a)-1
(b)+1
(c)2
(d)0



8% = 64
92 = 81
10%= 100

122 =144
13%=169
14% =19
15% =225
16% = 256
172 =289
18% =324
192 = 361
20% =400

' 1= 11%=121 l
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Question 3- ¥/1254400 + 37744 - 3/ X

50="

(a) 542
(b) -542
(c) -642
(d) -442
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Question 4- 100 + 25 x 2.5 + 160 = ? + 40

a) 182.5
b)282.5
c) 82.5

d)112.5
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Question 6- x = 5+2/6

x-==7?

X

a) 20
b) 10
c) 30
d) 40
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Question 7- 183> x 18* =
1814

x="7

a)l1l.5
0)10.5
C)9.5
d)5.5
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Question 8- 43%x 37 +
61%= 7

a)5412
0)5312
c)3412
d)5512
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Question 9- /104 X 54 ~ 12 + 52 — 8 =?

a)6
b)5
c)4
d)8
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Question 10- 80% of 3450 + 55% of 1400 + 70% of
160 =7

UH 10- 3450 1 80% + 1400 P 55% + 160 T 70% = ?

a) 3472
b) 4472
c) 3572
d) 4672
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